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The lowest temperature in stratosphere is: i i & ek
[ §8 sl iirgif o AN 55°C s°C 55°C 5°C O O O O
Which of the following gases is used to
- destroy harmful bacteria in water? Bromine Chlorine lodine Fluorine
2, J;JL/?[E,&EHUW»?;’JL}EJJJUI.-_Lﬁuﬁb» 472 Q‘,-:K T Q‘;:G O O O O
- e
H }Nhich of the following organic compounds is
3. found in gasoline (Petrol)? i C,H,y C,H C.H, C,H,,
fe Ul AU et rd Bl e s tn © O O O
M Predict the unit of K. for the following
reversible reaction:
=3 ~i 3 3 -1 -3
.4- N0, =22NO, moldm mol™ dm nioldm mol™ dm O O O O
-L)ﬂ;(jm{!Kc 45%6}%};’_)!}@»
. A reaction in which products react together |Exothermic |Reversible Irreversible) |Endothermic
to reform the original reactants is called: reaction reaction reaction reaction
. 5 g,,:u‘_t:\:'-‘-QLS;J"'rul_,nﬁfh;!id;u*"’?;;‘,mﬁwf'ﬁw__(r SIS FEGSE s J“-ﬁd;._}:ﬁ.pﬁ S Sens O O O O
e
. In an agueous solution of hydrochloric acid
the concentration of H* ion s
g 6 1x10*moldm™ . This solution is: Basic Neutral Amphoteric | Acidic O O O O
a4 8 JTHY £ J¥F & £ ta Sfulov Jie S dig
| S S o 1x10 moldm™
J_ |n @ homologous series, two adjacent —CH, - ’
7. compounds differ by: group -CH - group | CH, group | -CH, group O O O O
. Yo bnOM (NP sty o yn| -CH,~ oS | -CH-of | CH, o/ -CH, s/
3 IUPAC name of Gy, is: Octene Octyne Octanal Octane O O O O
[ | e W PHIUPACS et--¢-0T¥ CyH T T S T
Which of the following is an aldehyde?
CH,0CH COOH CH,-CHO "H,CH,-OH
.9‘ S LU IAGA 2T OCH, CH ’ Bt O O O O
Removal of |Removal of
. In organic  chemistry the term|Removal of |hydrogen and |water and Removal of
10. dehydrohalogenation means: halogen only |halogen halogen water only O O O O
" PR TN el VI S o A T S P (5 eI UL I R OV N
1A
. Identify the monosaccharide from the
11. following carbohydrates: Sucrose Lactose Maltose Glucose O O O O
,b:/l:}_‘[iiJﬁ_ff/g)fa.uﬁu‘-:)é—'u/b’a;@u },'/{' PrY A J),sf
. 1 Kilogram of water will occupy minimum
12. Space at: 100°C -4°C 4°C 0°C
] ?s‘a_/_rjfc.rr,;.:.;v.?uu/gjr‘.ri)'f..ﬁ O O O O
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Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and attempt any two questions from Section ‘C’ on the
separately provided answer book. Write your answers neatly and legibly.

SECTION = B (Marks 33)

Q.2 Answer any ELEVEN parts from the following. All parts carry equal marks. (11 x 3 =33)

(i)
(ii)

(iii)

State the necessary conditions for chemical equilibrium.
Identify Bronsted acids and bases in the following reactions.

(a) HCN +H,0+= H,0" +CN"~
(b) H,0+CO> = HCO, +OH~
(c) HS +H,0=8"+H,0'

Calcium carbonate (CaCO,) is used to make buildings. It can be made by neutralization reaction of
calcium hydroxide Ca(0H), with carbonic acid H,CO, . Write down its complete and balanced chemical

equation.
(iv) Identify and encircle the functional group in the following compounds. Also give names of classes of
functional groups.
(0]
(@)  CH,—~C=CH (b) [ (c)  CH,-CH,-0-CH,
CHCH,-C-H
(v) Predict the molecular formdla, structural formula and condensed structural formula for Hexane.
(vi) Identify the products and complete the following reactions.
(8  CH,~Cl+2[H]—52—5
“lag)
(b) CH,=CH - CH, + H,—gade—s
(viy  Identify 4 and B in the following reactions CHy = CH ~ E1 4 KOH — 900800 .l 28
(viii)  What is meant by industrial wastes in water? |dentify any three health problems caused by industrial
wastes.
(ix) Identify the functional groups in a typical amino acid. Draw a peptide linkage between two amino acids.
(x) Nitrogen dioxide is a redish brown toxic gas. Write down’its harmful effects.
(xi) What is meant by the term ‘green house gases’? What is theirrole in global warming?
(xii) Density of most of the liquids decreases on heating and increases on cooling. Water shows strange
behaviour in this regard. Discuss briefly.
(xiii)  How does CO, react with ammoniacal brine in Solvay's process? Write down the reactions.
(xiv)  Describe the following terms.
a) Petroleum b) Fractional distillation
(xv) How does methane react with chlorine in direct sunlight? What is the trend in reactivity of halogens with
an alkane?
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)
Q.3 a Explain the manufacturing of urea in two steps with the help of chemical reactions. Also enlist the uses
of urea.
b. What is meant by Lewis acid and Lewis base? Classify the following substances as Lewis acid or
Lewis base. AlCL,, CN~, H,O", NH,
Q.4 a. Describe the methods to remove temporary hardness of water.
b. Enlist the names of layers of atmosphere. Explain the first two layers which are nearest to the
earth.
Q.5 a. Write down the macroscopic characteristics of a reversible chemical reaction.
b. How are vitamins important to fight against diseases? Give a summary
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H,0+C0;* = HCO; +0OH" —
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SECTION - A (Marks 12)
Time allowed: 20 Minutes

Section — A is compulsory. All parts of this
section are to be answered on this page and

handed over to the Centre Superintendent.
Deleting/overwriting is not allowed.
Do not use lead pencil.

S K LS L1 LS p S sy 51y e

R Sy S R ¢

34

Version No. ROLL NUMBER
60| 8|3

© ® ® © © © ©® ®©® ©® © ©
ON O OO, OBNOBONOONONO)
®@ @ @ ® ®@ @ @ @ @ @
® ® 6 @ ® ® ® ® ® 6 6
@ ® 0 o @ &6 606 0 6 o
® ® ® 6 ® ® ® ® ® ® 6
® ® ® ® ® ® ® ® ® ® ®
© © © @ © 0 00 © O 0
® ® @ ®
® ® ®© ® ® ® ® @ ® @ @

Answer Sheet No.

L e Q LS L s L2 Invigilator Sign.

Fill the relevant bubble against each question according to curriculum:

Candidate Sign.

ll_nl,qlg.llll;llllﬁlil.llllllIIIIIEI

l Question Jir A B Cc D A ‘ B ‘ (o} l DT
Which of the following water borne diseases
causes acute liver inflammation? Hepatitis Cholera Typhoid Dysentery O O O O
‘-‘?..J]:».‘U;':ru'e)fJ/;Cdufa.u':ufﬂgd'!gc.(}&eﬂiéﬂ ui"t'&j 0 iy J:—T’
Chemical formula of urea is: . ‘
e i Mg NH ,NO, NH,CONH, |(NH,), SO, NH,COONH, | () O O )
Predict the unit of kK, for the following
reversible reaction: By s /. A s
200, +0y, =2C0,, mol’ dm mol *dn mol dm mol ™' dm O O O O
_ufi‘aéb’l[; K, _Aﬁuﬁgld;qufzbn
A state of chemical reaction in which forward
and reverse reactions take place at the same | Chemical Equilibrium  {Forward Reverse
rate is called: equilibrium constant reaction reaction O O O O
gf&)bdljg:_.ﬂ_'ﬂ;:!/,n.‘-c)b’ﬁ{j;d;fu:ig""gUi})y{;.._.n% ﬂ/’d){llf_‘{ :,}Ju’rf/d;‘:l u’i-'(l{,‘/imﬁ d&-cld.ru’.r;'z
9. 2-4
Given K,=[H"][on]=1x10" at 25°C.
What is the concentration of H'in pure
water at 25°C ? 1310 * moldm™ | 110" mol dm™ | 1x107 moldm™ | 1x10° mol dn™ O O O O
} o ex K,=[H']JOH ]=1x10" ;25°C
06 25°C i feot ST
Organic compounds are non-polar in nature
and are NOT soluble in: Benzene Ethanol Ether Water O O O O
?L,guﬁ;j_ifuwﬂuja_quLx)gutiﬂrrjﬂT oL Jog A di;
IUPAC name of C,H,, is: Hexyne Hexanol Hexane Hexene
?.;_yfrt(lUpAc)J-.-_r_Q_g-&Tb’ C.H, ik Jick ok ok O O O O
Which of the following is an alcohol? .
CH,COCH. CH.,OH CH,OCH CH,COOH
?‘c.bufpl'v:olfc.gﬁui@» 3 3 : 3 A 3 O O O O
In organic chemistry the term dehydration|Removal of [Removal of [Removalof [Removal of
means: water oxygen hydrogen halogen O O O O
Se sl U e LS RS UES AL BT ?:.r'f*ﬁ;‘!; AT O OIY) LA sk
! Identify the disaccharide from the following G S
0. carbohydrates: lactose Fructose ucrose Glucose O O O
?g_igr).:dlibuf e Leciit i Nen |3 W5 nF ¥ O
. 1 Kilogram of water will occupy minimum
11. space at: —4°C 4°C 0°C 100°C O O
. ?b’d_/;.;rra-&c.xl.?.?ugf(akfr/’y(_g! O O
As altitude increases in the troposphere the
! temperature decreases from 17°C to about: . . , o
2. n.r[?:(/!fr(c.. 17°C ..'p;!fqnf_(?‘z_éif:";!dfé’{;}éé °C 35°C =3°C =35°C O O O O
. fetle
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Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and attempt any two questions from Section ‘C’ on the
separately provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 33)

Q.2 Answer any ELEVEN parts from the following. All parts carry equal marks. (11x 3 =33)

(i)

State law of mass action. Write equilibrium constant expression for the given reaction using law of
mass action. N0, = 2NO,

(ii) Classify the following substances as Lewis acid or Lewis base.  4icl,, CI", CH,0H, NH,, Ca*”, BF,
(iii) Sodium acetate is used as a food preservative. It can be made by neutralization reaction of sodium
hydroxide with acetic acid. Write down balanced chemical equation of this reaction.
(iv) Identify and encircle the functional group in the following compounds. Also give name of class of
functional groups.
0] @)
(a) CH,=CH-CH, (b) I (c) I
CH,-C-0OCH, CH,-C-0OH
(v) Predict the molecular formula, structural formula and condensed structural formula for Octane.
(vi) Identify the products and complete the following reactions.
(a) CH,-Cl+2[H]4£248
(b) CH,CH, - OH —=555=»
(viiy  Identify 4 and B in the following reactions CH,~CH, ~ Cl + KO —#2 4 L Z30C 5 g
(viii)  What is meant by ‘household wastes.in’water’? Identify its any three harmful effects.
(ix) Write down the structural formulae of glucose and fructose, also identify the functional groups in both of
them.
(x) Sulphur dioxide is an air pollutant, released by power stations. Write down its harmful effects.
(xi) What is meant by global warming? List the effects of.global warming. (Any two)
(xii) How strange behaviour of water enables fish and aquatic animals to survive in winter? Explain briefly.
(xiii) Make list of the raw materials used in Solvay's process.
(xiv) ~ What are the advantages of using of urea as a fertilizer?
(xv) What is substitution reaction? Write chemical reactions showing halogenation of methane in diffused
sunlight.
SECTION — C (Marks 20)
Note: Attempt any TWO questions. All questions carry equal marks. (2x10=20)
Q3 a. Briefly explain the term ‘petroleum’. Describe important fractions of petroleum.
b. Describe Arrhenius concept of acid and base with suitable examples.
Q.4 a Describe the methods used to remove permanent hardness of water
b. What is ozone hole? Describe how ozone layer is depleted due to CFCs? Explain with the help of
chemical equations.
Q.5 a What is meant by a reversible chemical reaction? Also state necessary conditions for chemical
equilibrium.
b. Differentiate between DNA and RNA.
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(11x3 = 33) A L (0 P ez Laz O e b i guir 70
N,0, = 2NO, s R AL st ni S U6 S P AST (i)

AICl,, CI, CH,OH, NHj, Ca®, BF,-J/\ Gty LA dbunests (i)

e bra Fut L LU A pee bl d LESsF SLdeiafsy (i)

-J.'.J‘_-'.I;L/J.lg;”u.?l?dluigld;ul

_gf‘jrtt{_‘,sf‘_};i@mufbﬁajmféu_fgg J..,_.«Jff'a LJJ’:‘?&{G» (IV)
(0] (0]
i 5 i s CH,=CH—CH, -
CH;—C~-0H CH,-C-0CH,

_u“/r,{_f,J:”JGJ/),’/’fJ:U:‘;GJJ"“;‘—(‘JVJW}?L“L L(Octane)u:‘.y‘l' (v)
CH,—Cl+2[H]—2H s YA PS50 100 w1 SIES Ay (Vi)

CHyCH, - OH—23e o

SNSRI Snits  (Vi)

N, 200-300°C_ o B

CH, - CH,, — Cl + KOH —#=% 5 A—==F
WS f i E e (I Lumes Y. Uk AU (viii)
JSg EJ u;s)’ EB L e uﬁuul_uﬁ”ﬂ Lk f L, ¥ (ix)
_uf”g_-,lﬁj # LJI_.;_Jnd;tgzﬂ_.stuFf” u,g,zq_@ra’ua,g;;m dis )og (x)
e dN e pS et Y = EndE (xi)
oo e bt S Lz misfots s S st et S Py ez 0¥l (Xi)
L A5 Lniade sty e Sy (xii)
LS LNy LS (XiV)
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